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Aufgabe 1

Berechne die Länge der mit ”x” markierten Strecke. Wende die Strahlensätze an.
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Aufgabe 2

Berechne die Länge der mit ”x” markierten Strecke. Wende die Strahlensätze an.
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Aufgabe 3

Berechne die Länge der mit ”x” markierten Strecke. Wende die Strahlensätze an.
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Aufgabe 4

Berechne die Länge der mit ”x” markierten Strecke. Wende die Strahlensätze an.

a)

X

F
R

X

F’
R’

7,
2c

m

5,6cm

13
,8

cm

x

1. Verhältnisgleichung aufstellen

2. Gleichung umstellen

3. Lösung berechnen

b)

T

L
H

W

T

L’ H’ W’

x

9,6cm

6,8cm

4,8cm

1. Verhältnisgleichung aufstellen

2. Gleichung umstellen

3. Lösung berechnen

c)

L

NO

L

N’ O’

x

8,5cm13,5cm

20,9cm

1. Verhältnisgleichung aufstellen

2. Gleichung umstellen

3. Lösung berechnen

d)
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W

U
I’

W’

6,
6c

m

x

7,8cm

7,8cm

1. Verhältnisgleichung aufstellen

2. Gleichung umstellen

3. Lösung berechnen
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Viel Erfolg!
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